

VENDOR

RFQ COPY

TYPE NAME/ADDRESS HERE

G.A.BROWN & SON, INC.

FAIRMONT, WV 26554

215 MILL STREET

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

DEFK10017

BUYER 32

304-558-2544 DIV ENGINEERING & FACILITIES ARMORY BOARD SECTION

ADDRESS CORRESPONDENCE TO ATTENTION OF

1707 COONSKIN DRIVE CHARLESTON, WV

25311-1099 304-341-6368

DATE PRIN	TED	TEF	MS OF SAL	É	SHIP	/IA	FOB		FREIGHTTERMS
03/25/ BID OPENING DATE:	······································								
	1 000000000000000000000000000000000000	04/22/		888 48 888			OPENING TIME	0]	:30PM
LINE	QUAI	ATITY	UOP	CAT NO	ITEM NUI	VIBER.	UNITERICE		AMOUNT
0001	BUILDI	1	JB STRUC		968-20				
•	THE WE PUBLIC EERING FIED CONSTR FAIRMOREQUIR	ST VIR SAFET AND F ONTRAC UCT A NT, WV EMENTS ICATIO	GINIA Y STA ACILI TORS NEW , (MA , TER NS AS	DEPA TE AR TIES, TO PR ARMED RION MS & PREP	RTMENT OF MORY BOAR IS SOLIC OVIDE ALL FORCES CO.), PER CONDITION ARED BY T	MILITA D'S DIV ITING B LABOR RESERV THE FO	FOR THE AGE RY AFFAIRS A ISION OF ENG IDS FROM QUA AND MATERIAL E CENTER I LLOWING BID THE PLANS AN ITECTURAL FI	ND IN- LI- S TO N	
	OFFICE VENDOR PLANS UNMARK DAYS A BIDS, PLANS CONDIT DISCRE DRAWIN	OF TH S MAY AND SP ED TO FTER T THE CO RECEIV ION MA TION O GS ARE	E OMN CONTA ECIFI THE O HE TI NTRAC ED AF Y NOT F THE ALSO	I ASS CT TH CATIO FFICE ME AN TOR S TER 1 HAVE ARCH AVAI	OCIATES FE FIRM AT NS ARE RE OF THE AD DATE DE HALL RECE O DAYS, I THE DEPOITECT. TLABLE ELE	OR A DE 304.36 TURNED RCHITEC SIGNATE IVE A R NCOMPLE SIT RET HE PROJ CTRONIC	AILABLE FROM POSIT OF \$40 7.1417. IF COMPLETE AND T WITHIN TEN D FOR RECEIP EFUND OF \$15 TE, OR IN POURNED AT THE ECT MANUAL ALLY ON CD IS OF \$150.00.	0.00, THE (10) T OF 0.00. OR ND	RECEIVEL
	A/MAND. MARY L	ATORY OU RET	PRE-B TON D	MAN ID WI RIVE, CT JO	DATORY PR LL BE HEL FAIRMONT	E-BID D ON 04 , WV, 2 E AT 30	/08/2010 AT 6554 AT 1:00 4.201.3920 F	1516 PM.	2010 HAY -5 PH 1:2 I WV PUROHASING LIVISION
SIGNATURE //	/ <i>}///\</i>	1/1/1/1	N		LANGE GUEST	TELEPHONE	4–363–4500	DATE	05.05.2010
VICE PR	ESLDENT		<u> </u>	-05610	·····	. 50.		HANGER	TO BE NOTED ABOVE
	/	באורווער ד				ADDDESS	IN SPACE ABOVE L		



State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

DEFK10017

PAGE

BUYER 32
304-558-2544

RFQ COPY
TYPE NAME/ADDRESS HERE
G.A.BROWN & SON, INC.
215 MILL STREET
FAIRMONT, WV 26554

DIV ENGINEERING & FACILITIES ARMORY BOARD SECTION

03/25/2010	ERWS OF SALE	STATE VIA		FAEGHIFENAS
The state of the s	4/22/2010	BID OP	ENING TIME DI	:30PM
LINE QUANTIT	TY UOP CAT	ITEM NUMBER	UNITPRICE	AMOUNT
MORE DET	TAILED DIRECTIO	NS.		
		REQUIRED TO ATTEN		
· · · · · · · · · · · · · · · · · · ·		MANDATORY PRE-BID		
I -	1 ! !	E BID. NO ONE PER	SON MAY	
REPRESER	NT MORE THAN ON	E BIDDEK.		
AN ATTEN	NDANCE SHEET WI	LL BE MADE AVAILAB	HE FOR ALL	
		OMPLETE. THIS WIL		
OFFICIAL		FYING ATTENDANCE A		,
PRE-BID.		ROVIDE YOUR COMPAN		
		THE ATTENDANCE SH		. .
		THE BID. THE STA ENTATION TO VERIFY		
		BLE FOR ENSURING T		
		ION REQUIRED ON TH		
		DIVISION AND THE		
		SPONSIBILITY FOR A		
1	1 1 1	E PRE-BID ATTENDAN		
		HAT ALL POTENTIAL	BIDDERS INCLUDE	
HEIK E-	-MAIL ADDRESS A	ND FAX NUMBER.		
ALL POTE	ENTIA BINDERS	ARE REQUESTED TO A	SPINE PRINE TO	
		THE PRE-BID. BIDD		
		DISMISSAL OF THE		
		WILL BE PERMITTED		
		ER CONCLUSION OF T		
		, BUT DURING ANY S		
1	NCE SHEET.	T BE PERMITTED TO	SIGN THE	
ATTENDA	NCE SHEET.			
EXHIBIT	5	İ		
		1D-5 PROVIDES THAT OVEMENT CONSTRUCTI		•
I ITON FOR	K A PUBLIC IMPR	OVEWENT CONSTRUCTT	UN CUNTRACT	
OCNATION.	SEE REV	/ERSE/SIDE FOR TERMS AND CONDIT		
SIGNATURE		TELEPHONE	DATE	
TITLE	FEIN		ADDRESS CHANGES	TO BE NOTED ABOVE



215 MILL STREET

TYPE NAME/ADDRESS HERE

G.A.BROWN & SON, INC.

FAIRMONT, WV 26554

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130 Charleston, WV 25305-0130

Request for DEFK 10:

DEFK10017

⊗ P A	OE
	3

ADDRESSIGNABLES	PONDE	NCETO	TENTIONOF
BUYER 32			
304-558-2544			

DIV ENGINEERING & FACILITIES ARMORY BOARD SECTION

03/25/2010		HIVS UF SALE	SHIFVIA		FUB		FADIGHT LENVS
BID OPENING DATE:	04/22			BID OP	ENING TIME	01	:30PM
LINE QU	ANTITY	UOP CAT	ITEM NUMBER	1	UNIT PRICE		AMOUNT
						0000000000	
REOUI	RES EA	CH VENDOR	THAT SUBMITS	A BID	FOR THE WOR	к то	
			ME AN AFFIDA				
			DRUG-FREE W				
			BMITTED WITH				
1		1 1	IANCE WITH T				
			DRUG-FREE WO				
1		: :	IN DISQUALIF	1			;
		- Landerson					
			HIS CONTRACT				
1		1 1	DAYS AFTER T			1	
			OTHERWISE SP DER WILL BE C				
PROCE		KCHASE UK	EK WILL DE C	ONSIDER	CED MOTICE I	u]	
f							
i i		1 ,;	RECTOR OF PU	,			
			CONTRACT IMM				
			IF THE MATER				
			IFERIOR QUALI DNS OF THE BI			K M	
HERE		ECIPICATI	INS OF THE BI	D HILD C	CONTINACT		
						,	
			RACTOR OR SUB				
			DEPARTMENT			WAG	
			FOR MARION				
			E 21-5A, ET, THIS PROJECT)		KEANTLING		
WAGE	KAIES .	MEET II	INTO FRUJECIT				
ARBIT	RATION	ANY RE	ERENCES MADE	TO ARB	SITRATION OR		
1 1			DUE (EXCEPT		· · · · · · · · · · · · · · · · · · ·		
			O CONTAINED				
			ISTITUTE OF A			S	
PERTA	INING	In 1HTZ C	NTRACT ARE H	FKFRA D	JELEIED.		
WORKE	RS! CO	MPENSATIO	VENDOR IS	REQUIR	RED TO PROVI	DE	
			RKERS' COMPE				
			 REVERSE SIDE FOR TERM	SAND CONDID	TIONS		
SIGNATURE				EPHONE		DATE	
TITLE		FEIN		anentraannad erlanuurumanahnuurlotekkonneeke	ADDRESS CH	ANGES	TO BE NOTED ABOVE



State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for

DEFK10017

BUYER 32

ADDRESS CORRESPONDENCE TO ATTENTION OF 304-558-2544

RFQ COPY

TYPE NAME/ADDRESS HERE

G.A.BROWN & SON, INC. 215 MILL STREET FAIRMONT, WV 26554

DIV ENGINEERING & FACILITIES ARMORY BOARD SECTION

1707 COONSKIN DRIVE CHARLESTON, WV 304-341-6368 25311-1099

03/25/2		, , , , , , , , , , , , , , , , , , ,	MS OF SAL		SHIP			P.G.B			antitemus
BID OPENING DATE:		04/22/	2010			BID	OPEN	ING TI	ME O	1:30PM	
LINE	QUAN	(TITY	UOP	CAT.	ITEM NU	MBER		UNITPRI	76		AMOUNT
	ALL OFI OF THI OF COM INTER COVERA THE OT NEUR AND THE OF USE OF USE OF USE OF USE OF USE OF OF OF OTABLE OTABLE OF OTABLE OTA	TEMS: RAC: GNTSD CE GNTSD US ROFT BLH EACH PROTE TALSOR LET VONE TO NO	CHECK SUCCE SUCAL FERAL FINA FINA FINA FINA FINA FINA FINA FINA	ED BELOW SSFUL VEN LIABILITY UNLESS OF MINIMUM 250,000. URANCE: ERS RISK % OF THE ENT (5%) STATE OF D AS A BI ISH A PER IN THE FO CREDIT, (1) AUTHORIZ ONLY BE NAL OR BI THE 5% I ERIAL BOI YSTEM WII	WILL BE NDOR SHA Y INSURA THERWIS AMOUNT OF THE WEST V OF BOND OR BOND ZED TO E TER OF C ALLOWED USINESS BID BONE ND. (2) YEAR	LL F NCE F OF I FUL OF THE THE CENT OF THE	EQUIRE URNISH PRIOR PECIFIE NSURAN VENDOR INSURAN L AMOU NIE CON RTIFIED VISHED USINESS IT SUBM R PROJE ERFORMA	MENT PROOF TO DIN CE SHALL NCE IN TRACT. NT OF HALL E ESSFUL RACT. RACT. BY A ITTED ICTS INCE	IE IE	AMOUNT	
			<u> </u>	SEE RE	Verse side for	TEHMS AND CO	NOITION	is			
SIGNATURE						TELEPHONE	2035/1999		DATI		
TITLE	·	F	EIN					ADDRE	SS CHANG	ES TO BE NO	TED ABOVE



215 MILL STREET

TYPE NAME/ADDRESS HERE

G.A.BROWN & SON, INC.

FAIRMONT, WV 26554

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

DEFK10017

PAGE

BUYER 32
304-558-2544

0T-2 TO

DIV ENGINEERING & FACILITIES ARMORY BOARD SECTION

03/25/	2010		mia cit our			SHIPVIA			<u></u>			FACISITI FERING
BID OPENING DATE:		04/22/	2010			•	BID	OPEN	ING	TIME	01	:30PM
LINE	QUAL	UTITY	UOP	CAT.		ITEM NUMB	ER		UNI	TPRICE		AMOUNT
				****					<u> </u>		<u> </u>	
,												
				01.0	~~ ^	~~==:	The Part		. unc	W C		
1	DOMEST		MINOW	e l∂L _. A	55 &	SIEEL	TM LO	BLIC	WUR	(NS		
1	PROJEC	15						1	·		,	
	IN ACC	กตกงมเ	F WIT	H MES	T VII	RGINTA	CODE	5-19	-1 E	ЕТ.,		
	SEQ.,										ON,	
	ALTERA	TION.	REPAI	R. IM	PROVI	EMENT	OR MAI	NTEN	IANCE	OF	,	
	PUBLIC	WORKS), WHE	RE TH	E CO	ST IS	MORE T	HAN	\$50	,000 A	ND,	
	IN THE	CASE	OF ST	EEL O	NLY,	WHERE	THE C	OST	OF S	STEEL	IS	1.
	MORE T	HAN \$	000,000	OR W	HERE	MORE	THAN I	0,00	0 P	DUNDS	OF	<u>'</u>
	STEEL	ARE RE	QUIRE	D, TH	E ST	ATE WI	LL ACC	EPT	ONL	Y ALUM	INUM	
	GLASS,											
	IN ADD											
	FOR US	EAL	HE SI	IE UF	66 0	LIC WU	1 11 11 11 11 11 11 11 11 11 11 11 11 1	IALL	TUE	MADE U COST	ገሮ በሮ	
							OR LE					
							IC WOR				•	
	LOCKDS	, ui 3	iler m	NL OO					.,,			
	FOREIG	N. MADE	ALUM	INUM.	GLA	SS OR	STEËL	PROD	DUCT	SMAY	BE	1
•							IESTIC					
	TO BE	UNREAS	SONÁBL	E. S	UCH .	COST 1	S UNRE	EASON	IABLI	IF I	TIS	
`							PRICE					
	PRODUC	TS.	F THE	DOME	STIC	ALUMI	NUM, G	SLASS	OR	STEEL	•	
							ICED IN					
1							BY THE					
							DUCTS					
	PRICE							TUKE	nio	HER II	•	
	FRICE	INAN) FF F C	KE TON	TIAL	L 1 1/ W.	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,					
	IF. PR	RIOR T	THE	AWARE	OF	A CONT	TRACT L	UNDER	R TH	E ABON	/E	
	PROVIS	SIONS,	THE S	PENDI	NG D	FFICE	R OF TH	HE SF	PEND	ING UN	1IT	
	DETERN	INES '	THAT T	HERE	EXIS	TS A I	BID FOR	R LIK	(E F	OREIGN	Į	***************************************
	ALUMIN	IUM, GI	LASS C	R STE	EL T	HAT IS	S REAS	DNABL	LE A	ND LOV	IER	
	THAN T	THE LO	WEST E	ID DO	MEST	IC PRO	DUCTS	, THE	E SP	ENDING	3	
	DFFICE	MAY	REQUES	T, IN	WRI	TING,	A REE	VALUA	ATIO	DDAD!	10T0	
	REDUCT	ION I	NIHE	LOWES	BI	אט ז ע	SUCH 1	nnwes	SIIC	rkunt	1612	
	<u> </u>		•	SEE RE	VERSE 8		FINS AND CO	MORTION	is .			
SIGNATURE							TELEPHONE			,	DATE	•
TITLE	- Andrews		FEIN		***************************************				AD	DRESS C	IANGE:	S TO BE NOTED ABOVE



RFO COPY

TYPE NAME/ADDRESS HERE

G.A.BROWN & SON, INC.

FAIRMONT, WV 26554

215 MILL STREET

State of West Virginia Department of Administration Quotation Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for

DEFK10017

BUYER 32 304-558-2544

DIV ENGINEERING & FACILITIES ARMORY BOARD SECTION

ADDRESS:CORRESPONDENCE TO ATTENTION OF

1707 COONSKIN DRIVE CHARLESTON, WV 25311-1099 304-341-6368

FREIGHT TERMS F08 TERMS OF SALE DATE PRINTED 03/25/2010 BID OPENING DATE: BID OPENING TIME 01:30PM 04/22/2010 UNITPRICE AMOUNT ITEM:NUMBER QUANTITY. UOP LINE ALL VENDORS MUST INDICATE IN THEIR BID IF THEY ARE SUPPLYING FOREIGN ALUMINUM, GLASS OR STEEL. REV. 3/88 PREFERENCE FOR USE OF DOMESTIC STEEL PRODUCTS EXCEPT WHEN AUTHORIZED BY THE DIRECTOR OF THE PURCHASING DIVISION PURSUANT TO SUBSECTION 2 BELOW, NO CONTRACTOR MAY USE OR SUPPLY STEEL PRODUCTS FOR A STATE CONTRACT PROJECT OTHER THAN THOSE STEEL PRODUCTS MADE IN THE UNITED STATES. AS USED USED IN THIS CONTRACT, "STATE CONTRACT PROJECT" MEANS ANY ERECTION OR CONSTRUCTION OF, OR ANY ADDITION TO, ALTERATION OF OR OTHER IMPROVEMENT TO ANY BUILDING OR STRUCTURE, INCLUDING, BUT NOT LIMITED TO, ROADS OR HIGHWAYS, OR THE INSTALLATION OF ANY HEATING OR COOLING OR VENTILATING PLANTS OR OTHER EQUIPMENT, OR THE SUPPLY OF AND MATERIALS FOR SUCH PROJECTS, PURSUANT TO A CONTRACT WITH THE STATE OF WEST VIRGINIA FOR WHICH BIDS WERE SOLICITED ON OR AFTER JUNE 6, 2001. "STEEL PRODUCTS" MEANS PRODUCTS ROLLED, FORMED, В. SHAPED, DRAWN, EXTRUDED, FORGED, CAST, FABRICATED OR OTHERWISE SIMILARLY PROCESSED, OR PROCESSED BY A COMBINATION OF TWO OR MORE OF SUCH OPERATIONS, FROM STEEL MADE BY THE OPEN HEARTH, BASIC OXYGEN, ELECTRIC FURNACE, BESSEMER OR OTHER STEEL MAKING PROCESS. "UNITED STATES" MEANS THE UNITED STATES OF AMERICA AND INCLUDES ALL TERRITORY, CONTINENTA SEE REVERSE SIDE FOR TERMS AND CONDITIONS. DATE ELEPHONE SIGNATURE TITLE FEIN ADDRESS CHANGES TO BE NOTED ABOVE



215 MILL STREET

TYPE NAME/ADDRESS HERE

G.A.BROWN & SON, INC.

FAIRMONT, WV 26554

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130 Charleston, WV 25305-0130

Request for PRONUMBER

DEFK10017

BUYER 32 304-558-2544

ADDRESS CORRESPONDENCE TO A RENTION OF

DIV ENGINEERING & FACILITIES ARMORY BOARD SECTION

1707 COONSKIN DRIVE CHARLESTON, WV 25311-1099

304-341-6368

DATE PRINTED T	ERMS OF SALE SHIP VIA	FOB FREIGHTTERMS
03/25/2010		
		ENING TIME 01:30PM
LINE QUANTITY	UGP CAT ITEM NUMBER	UNIT PRICE AMOUNT
SEC	INSULAR, SUBJECT TO THE JURISI TION 5A-3-56. TED STATES.	DICTION OF THE
1	ECTOR OF THE PURCHASING DIVIS: AUTHORIZE THE USE OF FOREIGN S IF:	
EXC TOT HUN GRE THE	COST FOR EACH CONTRACT ITEM TO THE PERCENT OF THE PERCENT OF THE PURPOSES OF THE COST IS THE VALUE OF THE STEE DELIVERED TO THE PROJECT OR,	(.1%) OF THE AND FIVE CHEVER IS IS SECTION,
DET NOT QUA	DIRECTOR OF THE PURCHASING DERMINES THAT SPECIFIED STEEL PRODUCED IN THE UNITED STATES OF THE PURCHASING DEFINED STATES OF THE PURCHASING DESCRIPTION OF THE PURCHASING DEFINED STATES OF THE PURCHASI	MATERIALS ARE S IN SUFFICIENT ASONABLY
VIC	CONTRACTOR WHO USES STEEL PRODULATION OF THIS SECTION MAY BE CIVIL PENALTIES PURSUANT TO W	SUBJECT
REV. 10/01/	/0 1	
EXHIBIT 9		•
NOTICE FOR PROJECT ADD	ISSUANCE & ACKNOWLEDGEMENT OF DENDA	CONSTRUCTION
TO ABIDE BY	TOTO THE FOLLOWING SCHEDULE IN IS ON PROJECT ADDENDA FOR STATE A	SSUING AGENCIES:
SIGNATURE	SEE REVERSE SIDE FOR TERMS AND CONDIT	TIONS DATE
TITLE	FEIN	ADDRESS CHANGES TO BE NOTED ABOVE



215 MILL STREET

TYPE NAME/ADDRESS HERE

G.A.BROWN & SON, INC.

FAIRMONT, WV 26554

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

DEFK10017

PAGE

BUYER 32 304-558-2544

SH

DIV ENGINEERING & FACILITIES ARMORY BOARD SECTION

ADDRESS CORRESPONDENCE TO ATTENTION OF

DATE PRINTED	TERMS OF SALE	SHIP VIA	FOB	FREIGHT TERMS
03/25/2010 BID OPENING DATE:	07.700.10	מזה הפו	ENING TIME 01:	:30PM
	04/22/2010	ITEM NUMBER	UNIT PRICE	AMOUNT
LINE QUA	NTITY UGP CAT NO	I/EM/YOMBEH	UNI FRICE	PARECTORES
AND A AND SP AND LI PURCHA SEND A WHICH (2) I INTERE	LIST OF ALL PART PECIFICATIONS FOR ST SHALL BE FORW ASING DIVISION. A COPY OF THE ADD THE CONTRACT IS THE BUYER SHALL SESTED PARTIES AND ADD THE ANY ADD	INEER SHALL PREPARITES THAT HAVE PROCI THE PROJECT. THE ARDED TO THE BUYER THE ARCHITECT/ENGINED TO THE STATE ISSUED. END THE ADDENDUM TO, IF NECESSARY, EXENDUM SHOULD BE RECEIVED.	URED DRAWINGS ADDENDUM IN THE STATE NEER SHALL ALS AGENCY FOR O ALL TEND THE BID CEIVED BY THE	
OPENIN (3) A BIDDER DIVISI THAT SHALL EXCEP	ALL ADDENDA SHOULES AND SUBMITTE ON. THE SAME APPLY TO THE ALSO APPLY TO AN FION MAY BE FOR A PURPOSE OF CHANGI	D BE FORMALLY ACKN D TO THE STATE	OWLEDGED BY ALL PURCHASING ILATIONS DOCUMENT THE ONLY SISSUED FOR THE	
EXHIBI ADDENI I HERE ADDENI MY PRO	IT 10 DUM ACKNOWLEDGEME BY ACKNOWLEDGE R DUM(S) AND HAVE N DPOSAL, PLANS AND DUM NOS.:	NT RECEIPT OF THE FOLL NAME THE NECESSARY OR SPECIFICATION,	REVISIONS TO .	
SIGNATURE		TELEPHONE	DATE	
TITLE	FEIN		ADDRESS CHANGES	TO BE NOTED ABOVE



State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130 Charleston, WV 25305-0130

Request for DEFK10017

DEFK10017

ADDRESS.CORRESPONDENCE 10:A-UE	NHONOL
BUYER 32	•
304-558-2544	• •

RFQ COPY TYPE NAME/ADDRESS HERE

G.A.BROWN & SON, INC. 215 MILL STREET FAIRMONT, WV 26554

DIV ENGINEERING & FACILITIES ARMORY BOARD SECTION

DATE PRINTED TE	AMS OF SALE	SHIPVIA	FOB	FREIGHTTERMS
03/25/2010 BID OPENING DATE: 04/22	/2010	l atn or	PENING TIME 01	
BID OPENING DATE: 04/22	UOP CAT	ITEM NUMBER	UNITPRICE	AMCUNT
EINE GEATTE	NO NO			
NO. 1	04.15.2010			
140 % T	04.21.2010		,	
NO. 2		0 4 9 9		
NO. 3	04.23.2010			
NO. 4	04.27.2010			
1100				
NO. 5		0 0 0 +		
		URE TO CONFIRM THE		
ADDENDUM(S)	MAY BE CAU	SE FOR REJECTION	OF THE BIDS.	
		DERSTAND THAT ANY		
		ASSUMED TO BE MAI		
		ETWEEN VENDOR'S RE L IS NOT BINDING.	ONLY THE	
		WRITING AND ADDED		
SPECIFICATI	ONS BY AN	FFICIAL ADDENDUM	IS BINDING.	
ANTS.	2 Volar		: •	
./	. DIEXC 1.	sIG	NATURE	
G.A.E	ROWN & SON,	INC COM	PANY	
05.0	5.2010			
··/····			E	
REV. 11/96				
	CONTRA	TORS LICENSE		
WEST VIRGIN	ITA STATE CO	DE 21-11-2 REQUIR RFORM CONTRACTING	ES THAT ALL WORK IN THIS	
		. THE WEST VIRGI		
LICENSING B	OARD IS EMP	POWERED TO ISSUE T	HE CONTRACTORS	**
LICENSE. A	PPLICATIONS	FOR A CONTRACTOR	S LICENSE MAY B	
-	SEE A	VERSE SIDE FOR TERMS AND COND.	ITIONS DATE	
SIGNATURE		. IELEPHONE		
TITLE	FEIN		ADDRESS CHANGE	S TO BE NOTED ABOVE



State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

DEFK10017

PAGE 10

ADC	HESSICORRESPONDENCE HOTALIEN HON OF
BUYER	32
304-55	8-2544

RFQ COPY TYPE NAME/ADDRESS HERE G.A.BROWN & SON, INC. 215 MILL STREET

FAIRMONT, WV 26554

DIV ENGINEERING & FACILITIES ARMORY BOARD SECTION

DATE PRINT	ED TER	M9 OF SALE	SHIP VIA		FOR	FREIGHTTERMS
03/25/			25 17	D OPENIN	C TIME 1	1:30PM
BID OPENING DATE:	V/40040300000000000000000000000000000000		ITEM NUMBER		INITPRICE	AMOUNT
LINE	QUANTITY	UOP NO	HEW/NOWNERS		***	
'						
•	MADE BY CONT	ACTING THE	WEST VIRGINIA ING 3, ROOM 31	O' CHVBI DIAIZIO	N UF LABUI FSTON, WV	
	25305. TELE	PHONE: (30	1NG 3, KOON 31 4) 558-7890.	, CHARL	LOION, NV	
	WEST VIRGINI	A STATE CO	DE 21-11-11 RE	QUIRES A	NY	
	PROSPECTIVE LICENSE NUMB		INCLUDE THE CO	NIKACIOK	5	
	CICENSE MONT	ER OR THEI				
	BIDDER TO CO	MPLETE				
-		11 8 34 F	G.A.BROWN & SON	, INC.		
]	CONTRACTORS	NAME:				
	CONTRACTORS	LICENSE NO		675		• •
		<u> </u>			IDNITON A	
	THE SUCCESSI	UL BIDDER	WILL BE REQUIR DRS LICENSE PR	TOR TO T	KNISH A SSUANCE O	F
	A PURCHASE (
					,	
		AP	PLICABLE LAW			and the same of th
	THE WEST VI	GINTA STAT	E CODE, PURCHA	SING DIV	ISION RUL	ES
	AND REGULAT	CONS, AND T	HE INFORMATION	I PROVIDE	D IN	
	THE "REQUES"	r FOR QUOTA	TION" ISSUED E	BY THE PU	IRCHASING	
		1 1	UTHORITY GOVER	SMING 1HT	. S	
	PROCUREMENT	•	And the second s	ľ	•	
	ANY INFORMA	TION PROVID	ED IN SPECIFIC	CATION MA	ANUALS, OR	
	ANY OTHER S	URCE, VERE	AL OR WRITTEN	WHICH C	COURCES	S
	OR ALTERS TO	HE INFURMAT	ION PROVIDED F PARAGRAPH IS	-RUM THE VOTO AND	SOURCES A D OF NO	3
	EFFECT.	THE ADOVE	, ARMORAIN 10			·
	1					
,	BANKRUPTCY:	IN THE EV	ENT THE VENDOR	CONTRAC	JIUR FILES M THE	
A.C.	CONTRACT NII	LL AND VOIL	, AND TERMINA	TE SUCH (CONTRACT	
Martin de de Annager	WITHOUT FUR				•	
		SEFAR	VERSE SIDE FOR TERMS AN	D CONDITIONS		
SIGNATURE		_	TELEPHON		DA	TE
TITLE		FER	<u> </u>		ADDRESS CHANG	GES TO BE NOTED ABOVE
	1					



215 MILL STREET

TYPE NAME/ADDRESS HERE

G.A.BROWN & SON, INC.

FAIRMONT, WV 26554

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130 Charleston, WV 25305-0130

Request for DEFK10017

DEFK10017

BUYER 32 304-558-2544

DIV ENGINEERING & FACILITIES ARMORY BOARD SECTION

DATE PRINT	EO TEI	RMS OF SALE	SHIP VIA	FGB	FREIGHTTERMS
03/25/					·1
BID OPENING DATE:	04/22/		BID (PENING TIME	01:30PM
LINE	QUANTITY	UOP CAT	ITEM NUMBER	UNITPRICE	AMOUNT
	REV. 5/2009		William		
		NO	TICE		
•	A CICHED DIE	MIICT DE C	UBMITTED TO:		
	W SIGNED DIE	nosi be s	OBILITIED 10.		
	DEPART	ENT OF ADM	INISTRATION		
,	PURCHAS	ING DIVISI			
	BUILDIN				Accessed to the second
`.			TREET, EAST	•	
	CHARLES	STON, WV 2	2202-0120		
·					
			THIS INFORMATION		OF
	THE ENVELOPE	OR THE BI	D MAY NOT BE CON	SIDERED:	
	OF ALED DID				
	SEALED BID				
	BUYER:		32		
	•			,	
	REQ. NO.:		DEFK10017		
	DED COPUTAG	DATE	04/22/2010		
	BID OPENING	DATE	04/22/2010		.
	BID OPENING	TIME:	1:30 PM		
			'		
ľ		1 1	UMBER IN CASE IT	IS NECESSARY	
	TO CONTACT	YDU REGARDI	NG YOUR BID:		
			304-366-9456		
					market and
			AME OF PERSON TO	CONTACT	
Vaniment	CONCERNING .	THIS QUOTE:		,	
	Name of the second seco		,		
	1	SEERE	VERSE SIDE FOR TERMS AND CON	ADITIONS	
SIGNATURE			TELEPHONE		DATE
TITLE		FEIN		ADDRESS CH	ANGES TO BE NOTED ABOVE



YUZDOR RODZEK RFQ COPY

215 MILL STREET

TYPE NAME/ADDRESS HERE

G.A.BROWN & SON, INC.

FAIRMONT, WV 26554

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

DEFK10017

PAGE

BUYER 32 304-558-2544

6H-R-FO

DIV ENGINEERING & FACILITIES ARMORY BOARD SECTION

ADDRESS CORRESPONDENCE TO ATTENTION OF

DATE PHINTED		HMS OF SALE	SHIP VIA		FOR	FREIGHT TERMS
03/25/20 BID OPENING DATE:	04/22	/2010		BID OPE	ENING TIME	01:30PM
LINE	QUANTITY	UOP CAT	ITEM NUMBER		UNITPRICE	AMOUNT
			JAMES BROWN	тт		
			JAMES DROWN	, FT	any was been some been and year both yith NAP	:
				•		
	W11 T	TO THE EN	n or oro n	FFV10013	7 VVVVVV TOTA	
` **	**** THI:	S IS THE EN	ט טוא אנט טו	ELKIUNI	7 ***** TOTA	L I
				1		
				4.		
	•					11
					•	
					·	
	•					
		***************************************	-			

			VERSE SIDE FOR TERM	(CAMENTAL PROPERTY CONTRACTOR	ione	
SIGNATURE		DEE BE		EPHONE	DA DA	TE
TITLE		FEIN			ADDRESS CHANG	GES TO BE NOTED ABOVE

WVARNG Fairmont Armed Forces Readiness Center BID FORM - SECTION I (Base Bid and Alternates) Revised 27 April 2010

Dated: 05.05.2010 (Bidder to insert date bid submitted)	
SUBMITTED BY:	
G.A.BROWN & SON, INC.	(Hereinafter called "Bidder")
West Virginia Contractor's License Number: WV 007675	
SUBMITTED TO:	
The State of West Virginia (hereinafter called "Owner")	
The Bidder, being familiar with local conditions affecting the contract documents, including Instructions to Bidders, Bid F Drawings, Specifications, and any Addenda or Clarifications is furnish all material, labor, tools, taxes, transportation and expensive necessary to complete in a workman like manner all the	sued, hereby proposes to endable equipment and all
The Fairmont Armed Forces Reserve C West Virginia Army National Guard Fairmont, Marion, West Virginia	enter d
All in accordance with the Drawings and Specifications a Associates-Architects, Inc., 1543 Fairmont Avenue, Fairmo (304)367-1417.	ns prepared by Omni nt, West Virginia 26554
BASE BID:	·
For the Sum of: Twenty fire mellion nine hunde	red twenty four thousand
Three brushed fights mine and 46/100 (\$ 25,924,	359.46
(Ψ 6 6 6) [6 1]	

(The Base Bid includes the summation of items as described in Section II of the Bid Form.)

WVARNG-Fairmont AFRC Omni Project No. 20823

ALTERNATES:

Alternate No. 1: Phase 2 Earthwork

The stated base bid is subject to the following additions for Alternates which the Owner may select. ('Provide' means 'furnish and install.' Include in bids below all related coordination and modification requirements associated with the Work of each Alternate.) The Owner shall have the option to accept alternates at the bid price by Change Order to the Contract for a period of 120 days after the contract award.

Refer to Section 012300 entitled "Alternates" for description of Alternates (Amount to be shown in both words and numbers.):

ADD the sum of: Three burdred eighter three thousand four hundred
forty tho and 50/100 (\$ 383, 442.50).
Alternate No. 2: Military Equipment Parking Expansion
ADD the sum of: Two hundred twenty seven thousand four hundred
mints six and 50/100 (\$ 227, 496.50).
Alternate No. 3: Field Fencing
ADD the sum of: Thirty Dex thousand one hundred sexty, five
ADD the sum of: Thirty Diex thousand one hundred sixty five (\$ 36, 165).
Alternate No. 4: Civic Arena Parking Area
ADD the sum of: Eight hundred Disty sight thousand nine
hundred seventy sex (\$ 868, 976).
Alternate No. 5: Fencing and Gate Upgrade
ADD the sum of: Eight thousand
(\$ <u>8000</u>).

Alternate No. 6: Vestibule A100	
ADD the sum of: Two hundred therteen to	rousand
(5	213,000
Alternate No. 7: Landscaping	
ADD the sum of: Thirty thousand	
	<u>30,000</u>).
Alternate No. 8: Kitchen Equipment	3
ADD the sum of: two hundred pirty Deven	thousand
V V	<u>267,000</u>).
Alternate No. 9: Generator and Switchgear Sized for	Additional Emergency Powe
ADD the sum of: Sixteen thousand	nanan
	16,000
Alternate No. 10: Make-Up Air Unit for the Maintenar	nce Building
ADD the sum of: Wirty four thousand	
(9	34, <i>000</i>
Alternate No. 11: Warm-Up Kitchen Equipment	
ADD the sum of: Thirty one thousand	
(\$	31,000
Alternate No. 12: Telescoping Stands (sections B, E	<u>& F)</u>
Alternate No. 12: Telescoping Stands (sections B, E ADD the sum of: One hundred burty three (9)	thousand
(\$	163,000

Alternate No. 13: Telescoping Stands (sections A & C)	
ADD the sum of: Forty eight thousand	
(\$ 48,000)).
Alternate No. 14: Telescoping Stands (sections D & G)	
ADD the sum of: Forth pix thousand	
(\$ 46,000).
Alternate No. 15: Entrance Signs	
ADD the sum of: wenty eight thousand	
(\$ 29,000).
Alternate No. 16: Floor Boxes in Assembly Hall	
ADD the sum of: Thisty mine thousand	
(\$ 39,000)).
Alternate No. 17: Sound System in Assembly Hall	
ADD the sum of: Thirty five thousand	
(\$ 35,000).
Alternate No. 18: Projection Screen in Assembly Hall	
ADD the sum of: Eleven thousand	
(\$ 11,000).
Alternate No. 19: Wood Athletic Flooring	
ADD the sum of: One hundred twenty thousand	
).

Alternate No. 20: Lightning Protection		
ADD the sum of: Lifty three thousand		
(\$	53,000).
Alternate No. 21: Additional Data Jacks		•
ADD the sum of: Sevent six thousand		
(\$	76,000).

If awarded contract on Base Bid, I (we) agree to perform the work to **Substantial Completion and Beneficial Occupancy no later than 1 September 2011**. In addition to liquidated damages specified in Federal Guidelines, General Provisions 54, an additional fee of \$1,250.00 per day to cover expenses to the Government will be assessed. Total liquidated damages are \$2,750.00 first day and \$1,500.00 per day thereafter for work not completed after contract completion date.

For the purpose of this contract, one calendar day is counted from midnight to midnight and also any part of that 24-hour day period shall be counted as one calendar day. The Bidder certifies that this bid has been arrived at independently, without consultation, communication, or agreement as to any matter relating to this bid with any other bidder or with any competitor. The Bidder agrees that the Owner reserves the right to reject any or all bids, and to waive any formalities in the bidding. The Bidder agrees that this bid shall be good and binding and may not be withdrawn for a period of 90 days.

The Bidder acknowledges receipt of the following Addenda: (Please list by number and date.)

44.0.7	Жo	#3	#4		
#1	#Z		04.27.10		
04.15.10	04.21.10	04.23.10	04.27.10	7 //	
SIGNATU	RE OF BIDDER:				E T
Firm C A	.BROWN & SON, IN	С.	B/J:	N/V DVIVI	MAL
1 13 13 1. 0 62.4				DES BROWN, II	
Addrace:	215 MILL STREET		Title: VI	CE PRESIDENT	,
Address:_	TATOMONTE LIV 2	6554	Phone:	304-363-4500	
Address	***************************************	· · · · · · · · · · · · · · · · · · ·			
Address:_			Fax:	-366-9456	

END OF SECTION I

Tax Cert#: **55-0561024**

Item No.	Quantity	Description	Unit	Unit Price	Amount
General C	Contract Ad	ministration			
1	1	Armed Forces Reserve Center (Zones A, B, C)	LS	14,880,000.00	\$ 14,880,000.0
2	11	Maintenance Building (Zone D)	LS	1,156,000.00	\$ 1,156,000.0
3	1	Mobilization / Demobilization	LS	173,300.00	\$ 173,300.0
44	Y	General Administration	LS	785,550.00	\$ 785,550.0
5	1	Project Quality Control	LS	111,800.00	\$ 111,800.0
Site Gene	ral Contract	Administration			
6	1	Sitework Mobilization/Demobilization	LS	37,000.00	\$ 37,000.0
7	11	Sitework General Administration	LS	142,000.00	\$ 142,000.0
8	11	Sitework Project Quality Control	LS	63,500.00	\$ 63,500.0
9	11	WVDOH Encroachment Permit (Allowance No. 2)	LS	10,000.00	\$ 10,000.0
Site Prepa	ration				
10	1	Site Preparation	LS	69,700.00	\$ 69,700.0
11	1	Gas Line Relocation (Allowance No. 3)	LS	200,000.00	\$ 200,000.0
12	1	Sediment and Erosion Control	LS	42,232.00	\$ 42,232.0
13	3	Sediment Pond	EA	33,786.00	\$ 101,358.0
14	10	Waste Removal	TN	70.00	\$ 700.6
Earthwork			***************************************		
15	442,000	Unclassified Excavation	CY	3.78	\$ 1,670,760.0
16	4	6" Lean Concrete Mat	LS	422,924.50	\$ 422,924.5
17	1	Waterproof Coating	LS	164,000.00	\$ 164,000.0
18	15,000	Subgrade Preparation	SY	13.20	\$ 198,000.0
19	300	Soil Drying	TN	311.50	\$ 93,450.0
20	3,000	Soil Conditioning - 12"	SY	14.25	\$ 42,750.0
21	1,000	Soil Conditioning - 18"	SY	28.50	\$ 28,500.0
22	3,000	Over-Excavation	SY	26.50	\$ 79,500.0

23	2,300	6" Subsurface Drains	LF	23.25	\$ 53,475.0
24	1,700	8" Subsurface Drains	LF	27.50	\$ 46,750.0
Roads					
25	13,000	7" Concrete Paving	SY	75.40	\$ 980,200.0
26	1,070	HMA Wearing Course	TN	84.00	\$ 89,880.0
27	4,420	HMA Base Course	TN	79.00	\$ 349,180.
28	5,800	Free Draining Base	TN	73.50	\$ 426,300.
29	5,040	Free Draining Base Trench and Piping	LF	29.50	\$ 148,680.6
30	25,900	Fabric Separation	SY	1.10	\$ 28,490.
31	4,500	Class 1 Stone	TN	27.50	\$ 123,750.0
32	1	Pavement Marking	LS	8,250.00	\$ 8,250.
33	163	Wheel Stops	EA	264.00	\$ 43,032.
34	1,400	Concrete Curbing	LF	63.10	\$ 88,340.
35	1	Signage	LS	8,500.00	\$ 8,500.
36	170	Grass Pavers	SY	116.00	\$ 19,720.
37	730	Gravel Road	LF	63.00	\$ 45,990.
Miscellan	eous				
38	400	Screening Berm	LF	46.50	\$ 18,600.
39	1,500	Sidewalk	SY	62.10	\$ 93,150.
40	1	Type I Lawn	LS	32,309.36	\$ 32,309.
41	11	Type II Lawn	LS	18,847.13	\$ 18,847.
42	11	Type III Ground Cover for Slopes	LS	37,694.25	\$ 37,694.
43	2	Force Protection Gate	EA	32,500.00	\$ 65,000.
44	3	24' Sliding Gate	EA EA	5,500.00	\$ 16,500.
45	2	16' Sliding Gate	EA	2,270.00	\$ 4,540.
46	1,140	Security Fencing	LF	26.00	\$ 29,640.
47	11	Concrete Stairs	LF	1,840.00	\$ 1,840.
48	2	40' Flagpole	EA	3,750.00	\$ 7,500.

49	800	Retaining Wall	LF	258.00	\$	206,400.0
50	45	Loading Dock Wall	LF	275.00	\$	12,375.0
51	1	Vehicle Wash System	LS	20,500.00	\$	20,500.6
52	1	Oil/Water Separator	EA	74,000.00	\$	74,000.0
53	11	Loading Ramp	LS	128,500.00	\$	128,500.0
54	30	Bollards 8"	EA	1,100.00	\$	33,000.6
55	20	Bollards 12"	EA	2,500.00	\$	50,000.
56	15	Bollards Removable	EA	3,800.00	\$	57,000.
57	11	Trash Enclosure	LS	18,900.00	\$	18,900.0
Water						
58	20	2" Restrained Joint PVC	LF	54.11	\$	1,082.:
59	160	2" PVC Water	LF	40.12	\$	6,419.:
60	330	4" PVC Water	LF	31.67	\$	10,452.
61	1,400	6" PVC Water	LF	42.23	\$	59,124.
62	200	6" DIP Water	LF	58.07	\$	11,613.
63	200	8" PVC Water	LF	47.51	\$	9,502.:
64	800	12" PVC Water	LF	66.52	\$	53,212.
65	600	12" DIP Water	LF LF	101.88	\$	61,130.
66	1	PIV	EA	2,269.97	\$	2,269.
67	4	Fire Hydrant	EA	4,328.78	\$	17,315.
68	1	Water Vault	EA	50,150.50	\$	50,150.
Sewer						
69	120	Manholes, Sanitary Sewer	VF	475.00	\$	57,000.0
70	17	Frame and Cover, Sanitary Sewer	EA	613.00	\$	10,421.0
71	1,250	6" PVC Sanitary Sewer	<u>LF</u>	41.20	\$	51,500.0
72	1,400	8" PVC Sanitary Sewer	LF	45.00	\$	63,000.0
73	3	Cleanout, Sanitary Sewer	EA	650.00	\$	1,950.0

Utility Ext	tensions				·
26	1,200	HMA Wearing Course	TN	83.94	\$ 100,723.32
74	30	8" DIP Water	LF	84.50	\$ 2,535.00
65	1,200	12" DIP Water	LF	102.00	\$ 122,400.00
67	1	Fire Hydrant	EA	4,325.00	\$ 4,325.00
69	35	Manholes, Sanitary Sewer	VF	475.00	\$ 16,625.00
70	5	Frame and Cover, Sanitary Sewer	EA	612.00	\$ 3,060.00
72	1,560	8" PVC Sanitary Sewer	LF	45.00	\$ 70,200.00
75	850	Street Repair	LF	105.50	\$ 89,675.00
76	4	Service Connections	EA	1,640.00	\$ 6,560.00
Gas					
77	630	2" Gas Service Lines	LF	30.00	\$ 18,900.00
78	700	6" Gas Service Lines	LF LF	37.00	\$ 25,900.00
Storm Dra	ainage				
79	800	6" PVC Storm	LF	42.25	\$ 33,800.00
80.	780	8" PVC Storm	LF	45.50	\$ 35,490.00
81	900	12" PVC Storm	LF	50.00	\$ 45,000.00
82	1,000	12" HDPE Storm	LF	48.50	\$ 48,500.00
83	2,000	18" HDPE Storm	LF	57.00	\$ 114,000.00
84	1,400	24" HDPE Storm	LF	67.50	\$ 94,500.00
85	1,160	42" HDPE Storm	LF	137.25	\$ 159,210.00
86	1,200	Type 1 Ditch	LF	111.00	\$ 133,200.00
87	200	Type 2 Ditch	LF_	27.25	\$ 5,450.00
88	1,800	Type 4 Ditch	LF	10.50	\$ 18,900.00

				BID TOTAL	\$	25,924,359.46
110	1	JICCS Pad	LS	9,500.00	\$	9,500.0
109	1	Emergency Generator Pad	LS	2,355.00	\$	2,355.0
108	1	Transformer Pad	LS	500.00	\$	500.0
107	1,640	Combined Duct Bank Type 1	LF	101.50	\$	166,460.0
106	36	Communications Duct Bank Type 1	LF	82.50	\$	2,970.0
105	62	Electrical Duct Bank Type 3	LF	170.00	\$	10,540.0
104	43	Electrical Duct Bank Type 2	LF	614.50	\$	26,423.5
103	20	Electrical Duct Bank Type 1	LF	64.50	\$	1,290.
Power and	l Commun	cations				
102	3	Concrete Headwall	EA	7,000.00	\$	21,000.0
101	40	Trench Drain and Grate	LF	222.00	\$	8,880.
100	12	12" In-Line Inlets	EA	1,200.00	\$	14,400.0
99	10	10" Yard Drains	EA	966.00	\$	9,660.0
98	1	Modified Grate & Frame	EA	1,200.00	\$	1,200.0
97	2 1	Modified Inlet	EA	765.50 4,750.00	\$ \$	1,531.0 4,750.0
95 96	2	Type "G" Drop Inlets Type "G" Inlet Grate and Frame	EA EA	2,217.00	\$	4,434.(
94	35	Type "B" Inlet Grate and Frame	EA EA	740.00	\$	25,900.
93	35	Type "B" Drop Inlets	EA	1,927.00	\$	67,445.0
92	2	Modified Junction Box	EA	8,975.00	\$	17,950.
91	11	42" Junction Box	EA	10,136.00	\$	10,136.
90	4	Junction Box	EA	2,270.00	\$	9,080.
89	3,000	Type 5 Ditch	LF	11.00	\$	33,000.

ALTERNA	TE BID ITE	EM # 1 - Phase 2 Earthwork			
15	98,000	Unclassified Excavation	CY	3.78	\$ 370,440.0
19	10	Soil Drying	TN	311.50	\$ 3,115.0
20	100	Soil Conditioning - 12"	SY	14.25	\$ 1,425.0
22	100	Over-Excavation	SY	26.50	\$ 2,650.0
23	250	6" Subsurface Drain	LF	23.25	\$ 5,812.5
				TOTAL	\$ 383,442.50
ALTERNA	ATE BID IT	EM # 2 - Military Equipment Parking E	expansion		
18	4,430	Subgrade Preparation	SY	13.20	\$ 58,476.00
29	150	Free Draining Base Trench Piping	LF	38.00	\$ 5,700.0
30	660	Fabric Separation	SY	1.30	\$ 858.00
111	4,430	Fabric Woven	SY	3.75	\$ 16,612.50
112	3,000	AASHTO#1	TN	30.00	\$ 90,000.00
31	980	Class 1 Stone	TN	27.50	\$ 26,950.00
44	1	24' Sliding Gates	EA	5,500.00	\$ 5,500.00
46	900	Security Fencing	LF	26.00	\$ 23,400.00
				TOTAL	\$ 227,496.50
ALTERNA	TE BID ITE	EM # 3 - Field Fencing			
113	3	24' Double Swing Farm Gate	EA	1,850.00	\$ 5,550.00
114	3,900	Field Fencing	LF	7.85	\$ 30,615.00
				TOTAL	\$ 36,165.00

ALTERNA	TE BID ITE	EM # 4 - Civic Arena Parking Area			
21	9,900	Soil Conditioning - 18"	SY	28.50	\$ 282,150.00
26	800	HMA Wearing Course	TN	84.00	\$ 67,200.00
27	2,125	HMA Base Course	TN	79.00	\$ 167,875.00
28	2,230	Free Draining Base	TN	73.50	\$ 163,905.00
29	1,800	Free Draining Base Trench and Piping	<u></u>	29.50	\$ 53,100.00
30	9,900	Fabric Separation	SY	1.10	\$ 10,890.00
31	1,680	Class 1 Stone	TN	27.50	\$ 46,200.00
115	1	Pavement Markings	LS	1,250.00	\$ 1,250.00
116	1	Signage	LS	2,750.00	\$ 2,750.00
33	279	Wheel Stops	EA	264.00	\$ 73,656.00
			ACTION 100	TOTAL	\$ 868,976.00
ALTERNA	TE BID ITE	EM # 5 - Fencing and Gate Upgrade			
117	11	Fencing / Gate Upgrade	LS	8,000.00	\$ 8,000.00
				TOTAL	\$ 8,000.00

Per Addendum #3

BID FORM - SECTION II - (Unit Prices) Revised 22 April 2010

The costs indicated below are included in, and are a breakdown of, the Base Bid. In the event the total segregated prices shown below differ from the Base Bid indicated above, the Base Bid will govern.

In the event that unit quantities stated below differ from quantities required for completion of the Work, unit costs as stated below shall be the basis of adjustments in Contract Sum, in accordance with Contract Conditions, Section 012200 – Unit Prices.

SEE ATTACHED FORM

				7	
em No.	Quantity	Description	Unit	Unit Price	Amount
eneral	Contract A	dministration			
1	1	Armed Forces Reserve Center (Zones A, B, C)	LS	a de la companya de l	
2	1	Maintenance Building (Zone D)	LS		
3	1	Mobilization/Demobilization	LS		
4	1	General Administration	LS		
5	1	Project Quality Control	LS		
Site Gen	eral Contrac	t Administration			
6	1	Sitework Mobilization/Demobilization	LS		
7	1	Sitework General Administration	LS		
8	1	Sitework Project Quality Control	LS.		
9	1	WVDOH Encroachment Permit (Allowance No. 2)	LS		\$10,000.00
Site Pre	paration			,	. •
10	1	Site Preparation	LS		,
11	1	Gas Line Relocation (Allowance No. 3)	LS		\$200,000.00
12	4	Sediment and Erosion Control	LS		
13	3	Sediment Pond	EA		
14	10	Waste Removal	TN		

Earthwor	k			***************************************	
15	442,000	Unclassified Excavation	CY		
16.	1	6" Lean Concrete Mat	LS		
17	1	Waterproof Coating	LS		
18	15,000	Subgrade Preparation	SY		
19	300	Soil Drying	TN		
20	3,000	Soil Conditioning-12"	SY		
21	1,000	Soil Conditioning-18"	SY		
22	3,000	Over-Excavation	SY		
23	2,300	6" Subsurface Drains	LF		
24	1,700	8" Subsurface Drains	LF		
Roads					
25	13,000	7" Concrete Paving	SY		
26	1,070	HMA Wearing Course	TN	- Andrews	
27	4,420	HMA Base Course	TN		
28	5,800	Free Draining Base	TN	5.22	
29	5,040	Free Draining Base Trench and Piping	LF		
30	25,900	Fabric Separation	SY	and the state of t	
31	4,500	Class 1 Stone	TN		
32	1	Pavement Marking	LS		
33	163	Wheel Stops	EA		
34	1,400	Concrete Curbing	LF		
35	1	Signage	LS		
36	170	Grass Pavers	SY		

37	730	Gravel Road	LF							
Viscellan	Tiscellaneous									
38	400	Screening Berm	LF		,					
39	1,500	Sidewalk	SY		}					
40	1	Type I Lawn	LS							
41	1	Type II Lawn	LS							
42	1	Type III Ground Cover for Slopes	LS							
43	2	Force Protection Gate	EA							
44	3	24' Sliding Gate	EA							
45	2	16' Swing Gate	EA							
46	1,140	Security Fencing	LF							
47	1	Concrete Stairs	LF							
48	2	40' Flagpole	EA		,					
49	800	Retaining Wall	LF .							
50	45	Loading Dock Wall	LF							
51	1	Vehicle Wash System	LS							
52	1	Oil/Water Separator	EA							
53	1	Loading Ramp	LS							
54	30	Bollards 8"	EA							
55	20	Bollards 12"	EA							
56	15	Bollards Removable	EA							
57	1	Trash Enclosure	LS							
Water	A.V.									
58	20	2"Restrained Joint PVC	LF							
L	J	<u> </u>								

59	160	2" PVC Water	LF		
60	330	4" PVC_Water	LF	-	
61	1,400	6" PVC Water	LF		
62	200	6" DIP Water	LF		
63	200	8" PVC Water	LF		
64	800	12" PVC Water	LF		
65	600	12" DIP Water	LF		
66	1	PIV	EA		
67	4	Fire Hydrant	EA		
68	1	Water Vault	EA		
Sewer				*	
69	120	Manholes, Sanitary Sewer	VF		
70	17	Frame and Cover, Sanitary Sewer	EA		
71	1,250	6" PVC Sanitary Sewer	LF		
72	1,400	8" PVC Sanitary Sewer	LF		
73	3	Cleanout, Sanitary Sewer	EA		
Utility E:	ctensions				
26	1,200	HMA Wearing Course	TN	The state of the s	
74	30	8" DIP Water	LF		
65	1,200	12" DIP Water	LF	į	
67	1	Fire Hydrant	EA	La constant de la con	
69	35	Manholes, Sanitary Sewer	VF	And the second s	
70	5	Frame and Cover, Sanitary Sewer	EA		
72	1,560	8" PVC Sanitary Sewer	LF		
	·				

75	850	Street Repair	LF	
76	4	Service Connections	EA	~ -
GAS				
77	630	2" Gas Service Lines	LF	
78	700	6" Gas Service Lines	LF	
Storm Dra	ainage			
79	800	6" PVC Storm	LF	
80	780	8" PVC Storm	LF	
81	900	12" PVC Storm	LF	
82	1,000	12" HDPE Storm	LF	
83	2,000	18" HDPE Storm	LF	
84	1,400	24" HDPE Storm	LF	
85	1,160	42" HDPE Storm	LF	
86	1,200	Type 1 Ditch	LF	
87	200	Type 2 Ditch	LF	
88	1,800	Type 4 Ditch	ĹF	
89	3,000	Type 5 Ditch	LF	
90	4	Junction Box	EA	
91	1	42" Junction Box	EA	
92	2	Modified Junction Box	EA	
93	35	Type "B" Drop Inlets	EA	
94	35	Type "B" Inlet Grate & Frame	EA	
95	2	Type "G" Drop Inlets	EA	
96	2	Type "G" Inlet Grate & Frame	EA	

			1	<u> </u>
97	1	Modified Inlet	EA	
98	1	Modified Grate & Frame	EA	
99	10	10" Yard Drains	EA	
100	12	12" In-Line Inlets	EA	
101	40	Trench Drain and Grate	LF	
102	3	Concrete Headwall	EA	
Power an	d Communic	ations		
103	20	Electrical Duct Bank Type 1	LF	
104	43	Electrical Duct Bank Type 2	LF	
105	62	Electrical Duct Bank Type 3	LF	
106	36	Communications Duct Bank Type 1	LF	
107	1,640	Combined Duct Bank Type 1	, LF	,
108	1	Transformer Pad	LS	
109	1	Emergency Generator Pad	LS	
110	1	JICCS Pad	LS	
				Bid Total
	ALTERNAT	E BID ITEM #1-Phase 2 Earthwork		
Alternate	e Bid Item #1	-Phase 2 Earthwork		
15	98,000	Unclassified Excavation	CY	
19	10	Soil-Drying	TN	
20	100	Soil Conditioning - 12"	SY	
22	100	Over-Excavation	SY	
23	250	6" Subsurface Drain	LF	

			Total	
LTERNAT Expansion	E BID ITEM #2 - Military Equipment			
4,430	Subgrade Preparation	SY		
150	Free Draining Base Trench Piping	LF		
660	Fabric Separation	SY		
4,430	Fabric, Woven	SY		
3,000	AASHTO #1	TN		
980	Class 1 Stone	TN		
1	24' Sliding Gates	EΑ		
900	Security Fencing	LF	Total	
A	LTERNATE BID ITEM #3 - Field			
3	24' Double Swing Farm Gate	· EA		
3,900	Field Fencing	LF		
			Total	
A Area	LTERNATE BID ITEM #4 - Civic Arena	,		
9,900	Soil Conditioning-18"	SY		
800	HMA Wearing Course	TN		
2,125	HMA Base Course	TN		
2,230 ·	Free Draining Base	TN		
1,800	Free Draining Base Trench & Piping	LF		
9,900	Fabric Separation	SY		
1,680	Class 1 Stone	TN		
1	Pavement Markings	LS	1	
	4,430 150 660 4,430 3,000 980 1 900 A 3 3,900 A Area 9,900 800 2,125 2,230 1,800 9,900 1,680	4,430 Subgrade Preparation 150 Free Draining Base Trench Piping 660 Fabric Separation 4,430 Fabric, Woven 3,000 AASHTO #1 980 Class 1 Stone 1 24' Sliding Gates 900 Security Fencing ALTERNATE BID ITEM #3 - Field 3 24' Double Swing Farm Gate 3,900 Field Fencing ALTERNATE BID ITEM #4 - Civic Arena Area 9,900 Soil Conditioning-18" 800 HMA Wearing Course 2,125 HMA Base Course 2,230 Free Draining Base 1,800 Free Draining Base Trench & Piping 9,900 Class 1 Stone	Expansion 4,430 Subgrade Preparation SY 150 Free Draining Base Trench Piping LF 660 Fabric Separation SY 4,430 Fabric, Woven SY 3,000 AASHTO #1 TN 980 Class 1 Stone TN 1 24' Sliding Gates EA 900 Security Fencing LF ALTERNATE BID ITEM #3 - Field EA 3,900 Field Fencing LF ALTERNATE BID ITEM #4 - Civic Arena LF Area SOII Conditioning-18" SY 800 HMA Wearing Course TN 2,125 HMA Base Course TN 2,230 Free Draining Base TN 1,800 Free Draining Base Trench & Piping LF 9,900 Fabric Separation SY 1,680 Class 1 Stone TN	### ALTERNATE BID ITEM #2 - Military Equipment 4,430

Per Addendum #3

116	1	Signage	LS		
33	279	Wheel Stops	EA		.,,
			٠.	Total	
Gate Up		ERNATE BID ITEM #5 - Fencing and			
			Lance to the state of the state		
117	1	Fencing/Gate Upgrade	1	LS	
				Total	
	<u>.</u>				to the state of th

BID BOND

KNOV	VALL MEN BY THESE	E PRESENTS, That we, the ur	idersigned, G. A. Brown & Son, Inc.,
UI	Fairmont	West Virgir	nia, as Principal, and Fidelity and Deposit Company of
Maryland of		THE PROPERTY OF THE PROPERTY O	Transfer and the state of the s
Maryland	with its principal of	fice in the City ofBaltimo	re, MD, as Surety, are held and firmly bound unto the State
of West Virginia	al ma amillion in the be	mai sum of Live Percent of the	e Amount Bird /c 5V/
well and truly to	be made, we jointly a	nd severally bind ourselves, or	ur heirs, administrators, executors, successors and assigns.
1			
The Co	ondition of the above o	bligation is such that whereas	the Principal has submitted to the Purchasing Section of the
Debarringtif of V	чинныманин а сепан	n bid of brobosal, attached her	ofo and made a part have as a second second
O OTTO,CT GOL	a new Anneu re	orces Reserve Center	, in Fairmont, Marion County, West Virginia.
DEFK1001	17.		J, John Marie Mari
NOW	THEREFORE,		
(a) If :	sald bid shall be reject	ed, or	
(b) (f s hereto and shall	said bid shall be accep I furnish any other han	ited and the Principal shall ent	er into a contract in accordance with the bid or proposal attached
agreement crea	ted by the accentance	of sold hid then this although	his blu of proposal, and shall in all other respects perform the
force and effect.	It is expressly unders	stood and agreed that the liabil	n shall be null and void, otherwise this obligation shall remain in full lity of the Surety for any and all claims hereunder shall, in no event,
exceed the pena	al amount of this obliga	ation as herein stated.	To event,
The Su	irety, for the value rece	Sived, berehv stinulates and a	1 September 18 and 18 a
way impaired or	affected by any extens	sion of the time within which th	prees that the obligations of said Surety and its bond shall be in no se Obligee may accept such bid, and said Surety does hereby
waive notice of a	any such extension.		a said outery does herepy
IN WIT	NESS WHEREOF. PH	ncinal and Surety have borour	obernialistikk in factoriosista (osoni kona).
have caused the	ir corporate seals to h	a affived because and the	nto set their hands and seals, and such of them as are corporations
29th day of	April	on 10	resents to be signed by their proper officers, this
		, 20 10 .	
Principal Corpora	ate Seal		G. A. Brown & Son Inc.
· ····orpan outpon	oto ocaj		
			The of Principal
			By My Sy YMM
			(Must be President or Vice President)
			Vice President (Title)
Surety Corporate	Seal		• •
	5001	•	Fidelity and Deposit Company of Maryland (Name of Surety)
			(ivaline of Surety)
			- 1.11
			A Manchens
			Attorney-in-Fact
MPORTANT - S	urety executing bond	ds must be licensed in West	Virginia to transact surety insurance. Raised corporate seals
nust be affixed,	a power of attorney	must be attached.	- Agiseu corporate seals

Power of Attorney FIDELITY AND DEPOSIT COMPANY OF MARYLAND

KNOW ALL MEN BY THESE PRESENTS: That the FIDELITY AND DEPOSIT COMPANY OF MARYLAND, a corporation of the State of Maryland, by M. P. HAMMOND, Vice President, and ERIC D. BARNES, Assistant Secretary, in pursuance of authority granted by Article VI, Section 2, of the By-Laws of said Company, which are set forth on the reverse side hereof and are hereby certified to be in full force and effect on the date hereof, does hereby hominate, constitute and appoint A. L. STANCHINA, of Moneta, Virginia, its true and lawful agent and Attorney in-Eact, to make, execute, seal and deliver, for, and on its behalf as surety, and as its act and deed; any and all bonds and undertakings, and the execution of such bonds or undertakings in pursuance of these presents, shall be as building upon said Company, as fully and amply, to all intents and purposes, as if they had been duly executed and acknowledged by the regularly elected officers of the Company at its office in Baltimore, Mil), in their own proper persons. This power of attorney revokes that issued on behalf of A. L. STANCHINA dated June 14,2004

The said Assistant Secretary does hereby certify that the extract set forth on the reverse side hereof is a true copy of Article VI, Section 2, of the By-Laxy of said Company, and is now in force.

IN WITNESS WHEREOF, the said Vice-President and Assistant Secretary have hereunto subscribed their names and affixed the Corporate Seal of the said FIDELITY AND DEPOSIT COMPANY OF MARYLAND, this 28th day of July, A.D. 2004.

Lie D. Bairl

ATTEST:

FIDELITY AND DEPOSIT COMPANY OF MARYLAND



Eric D. Barnes

Assistant Secretary

M. P. Hammond

Vice President

State of Maryland City of Baltimore Ss:

FOR YOUR PROTECTION, LOOK FOR THE ZURICH WATERMARK

On this 28th day of July, A.D. 2004, before the subscriber, a Notary Public of the State of Maryland, duly commissioned and qualified, came M. P. HAMMOND, Vice President, and ERIC D. BARNES, Assistant Secretary of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND, to me personally known to be the individuals and officers described in and who executed the preceding instrument, and they each acknowledged the execution of the same, and being by me duly sworn, severally and each for himself deposeth and saith, that they are the said officers of the Company aforesaid, and that the seal affixed to the preceding instrument is the Corporate Seal of said Company, and that the said Corporate Seal and their signatures as such officers were duly affixed and subscribed to the said instrument by the authority and direction of the said Corporation.

IN TESTIMONY WHEREOF, I have hereunto set my hand and affixed my Official Seal the day and year first above written.

MANORE DESCRIPTION OF THE STATE
Dennis R. Hayden

Notary Public

My Commission Expires: February 1, 2009

EXTRACT FROM BY-LAWS OF FIDELITY AND DEPOSIT COMPANY OF MARYLAND

"Article VI, Section 2. The Chairman of the Board, or the President, or any Executive Vice-President, or any of the Senior Vice-Presidents or Vice-Presidents specially authorized so to do by the Board of Directors or by the Executive Committee, shall have power, by and with the concurrence of the Secretary or any one of the Assistant Secretaries, to appoint Resident Vice-Presidents, Assistant Vice-Presidents and Attorneys-in-Fact as the business of the Company may require, or to authorize any person or persons to execute on behalf of the Company any bonds, undertaking, recognizances, stipulations, policies, contracts, agreements, deeds, and releases and assignments of judgements, decrees, mortgages and instruments in the nature of mortgages,...and to affix the seal of the Company thereto."

CERTIFICATE

I, the undersigned, Assistant Secretary of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND, do hereby certify that the foregoing Power of Attorney is still in full force and effect on the date of this certificate; and I do further certify that the Vice-President who executed the said Power of Attorney was one of the additional Vice-Presidents specially authorized by the Board of Directors to appoint any Attorney-in-Fact as provided in Article VI, Section 2, of the By-Laws of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND.

This Power of Attorney and Certificate may be signed by facsimile under and by authority of the following resolution of the Board of Directors of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND at a meeting duly called and held on the 10th day of May, 1990.

RESOLVED: "That the facsimile or mechanically reproduced seal of the company and facsimile or mechanically reproduced signature of any Vice-President, Secretary, or Assistant Secretary of the Company, whether made heretofore or hereafter, wherever appearing upon a certified copy of any power of attorney issued by the Company, shall be valid and binding upon the Company with the same force and effect as though manually affixed."

IN TESTIMONY WHEREOF, I have hereunto subscribed my name and affixed the corporate seal of the said Company,

this 29th day of April, 2010.

Assistant Secretary

Gugt. Minny

Rev March 2009



State of West Virginia DRUG FREE WORKPLACE CONFORMANCE AFFIDAVIT West Virginia Code §21-1D-5

STAT	E OF _	WEST VIRGINIA			
COUN	ITY OF	MARION	, TO-WIT:		
Ī,			_, after being first duly sworn, depose and		
state	as folio)WS:	·		
1.	I am a	an employee of	G.A.BROWN & SON, INC. ; and, (Company Name)		
2.	I do h	ereby attest that	G.A.BROWN & SON, INC. (Company Name)		
maintains a valid written drug free workplace policy and that such policy is in compliance with West Virginia Code §21-1D-5.					
The a	above s	tatements are sw	orn to under the penalty of perjury.		
1110			G.A. BROWN & SON, INC.		
			By: By:		
			Title: VICE PRESIDENT		
			Date: 05.05.2010		
Taken, subscribed and sworn to before me this 500 day of $May 2010$					
BY C	THY A. BA	PUBLIC ST VIRGINIA ARNOSKY	gust 34,2016 Cathy A. Barnosky		
) Fairm		Street firginia 26554	(Notary Public)		
and the first	CARE	KATT MIST BE	SUBMITTED WITH THE BID IN ORDER TO PROVISIONS. FAILURE TO INCLUDE THE		
CON	APLY W	VITH WV CODE F	KOATOTOMO: LATERIE LO SIACESTA 133		

THE BID.

10		1	6
----	--	---	---

Purchasing Affidavît (Revised 12/15/09)

RFQ	No
111 00	1 40.

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION: The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

Under penalty of law for false swearing (West Virginia Code §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this diffidavit and is in compliance with the requirements as stated.

WITNESS THE FOLLOWING SIGNATURE
Vendor's Name: G.A.BROWN & SON, INC.
Authorized Signature:
State of West Virginia
County of MARGON, to-wit:
Taken, subscribed, and sworn to before me this 5 th day of
My Commission expires Hugust 24 . , 20/6.
AFFIX SEAL HERE NOTARY PUBLIC Atty A. Barnosky
OFFICIAL SEAL NOTARY PUBLIC STATE OF WEST VIRGINIA CATHY A. BARNOSKY G. A. Brown & Son, Inc.

Fairmont, West Virginia 26554 My Commission Expires Aug. 24, 2016